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LX) Whal wvolume of 00N FICT would be neoded for the neutralization o (al?

(2 murks) by et _ ootmel g

= el Hanld = 0.2M % 0.0508 L = 0.0lomal Nasll ) G
| 6) @ouq Rl = H. O 4 8al] [ ; Ztogm L
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| =5 Which beaker would requige the keast volume of 008 HICI for complete
| |r> neutralization? 1 mark)

i3] What woelume of 0,10 1101 would be needed for the neutralization in ()7
{2 marks)

= mel KOH = p.05M % 0.0206 L = ©O.0ol mef koH
17 (EoR+ RCT = R,o 3 Ke(|

S mol HO| = 0.0 el ol = Lol HEf = 0. 00f ﬂdue HC/
i Caleulate the mass of WaOll which is reguired o neotralize 1500 mL of

0350 M HoS04% 13 maurks)

mal 15,50, = 0.350Mx 0.0I500L = 0.00525 mel H, 50,
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Y/ TH.50, ~ Waol] — ZH,0 + Na,SO4|
mass NeoH
0.00525 mof {50, = 2mel Naol . 49.0 g NaoH . 94_%5" -
| ol SO, ] sl MaoH 7
{0 elesmad) Eﬂmﬂr%ﬁ’gm.{
- i, When a 0.1 M strong boase titrates a (1 M weak monopratic acid, it takes
| @ (fessimoresthe sen J'«.a, SArME. Jolume of the base s it would to titrate a
| -;\FE-{.[ M stronge monoprols = imark)
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